R (QER B IE )
BRI BB 0 B R VR . B4 SABTRETRETER, RUFN LR SR T LEARENTRA S, THREHITRIGH

FEdh . AR AIUE BEANRIEE R G — AN AT R
T ﬁﬁi
* . [ I * * * N 5 * * .
F) f£: Nom) | CLTC, #4: Km) ﬁ h)“’ - * AW |
1 | %% 10 7R 1190<v <1600 >140 / / >2650 5 Bz | A H H &l & H HIZ |FIR| HIE
2 | B F 12 A 1190<v <1600 >140 / / >2700 5 Bzl | A # H A & # HIZ |HIE| AIE
3| HE 18 iR 1390<v <1800 >1250 / / >2800 5 Bz | A H H &l & H HIZ | HIK| AIE
4 | B F 18 A 1600<v <1800 >1250 / / >2700 5 Bzl | A & A A & # HIZ |HIE| AIE
5| HF 14 4, / / >400 <1 >2600 5 / H H H & & & HIZ |HIE| HIE
6 | HF 14 4, / / >500 <1 >2650 5 / H H A Gl Gl H HIE |AIE| AIE
T | BF 16 4, / / >500 <1 >2700 5 / H H A Gl Gl H HIE | AIE| AL
8 | HE 18 4, / / >500 <1 >2750 5 / H H H H & & HIZ | HIK| A
9 | HF 18 4, / / >600 <1 > 2850 5 / ] &l A A A H HIE |FIX| HIE
10 | %% 18 430 /7 (PHEV) V>1400 / >50 / >2600 5 / H & H & & & HIZ | HIE| A
CAEE s AR 3@&:%@;& 100000 A2 (L‘Aﬁ%éﬂ%iﬂ}’g) . R E R R o ‘ ‘
AT s ARE: KR 3 EREITHE 100000 AF (LERFAE) . ZRREH 8 ERF/TH 150000 A2 (LUEEF HE) . Wk ERFEHR

siE 20 /1 (PHEV) #3%: BEFRM 3 FBETH 100000 A2 (DUERFAHE) « ZwBRH 8 FRAATH 150000 A8 (BUSEEH ) R RES




—. BEE

. * * \ * . * WI‘] %ﬁ)é =\I= * *
* Replik | Shmss | REuE (& * * , * VS s F | B | BR . T4
ae | gg |RORM , BEC, B | AHE | BEGA | WREHEE |85 (| BAK | 8 | aps | g | TR | WA |G oy | BREEE
(A fLERA 0 (g ¥ CLTC 30%-80%, % | s s %82 wme | WRE | | - BRR | BR 2

) m fr: | TH , | B 30%—80%, {r: mm) (S) * ) z e IF | BN

N.m) BAv: Km) fI: h) # % - ® | %
1 HEE 18 5.3 1490<v <2000 >180 / / >2650 | 5<S<T| Bz | A& | A H H " | A | A | A/L | A/E| AL
2 % 25 95,3 1790<v <2590 >220 / / >2750 |5<S<7| Bz | A% | A H H H | & | A | A/KE |AH/E| AL
3 O 20 5 1790<v <2000 >200 / / >2650 |5<S<7| @ | EAE | A H H " | A | A | A/% |B/E| AL
4 O 25 5 1790<v <2000 >250 / / >2800 |5<S<7| @ | EAE | A H H " | A | A | A/K% |B/E| BA/E
5 B 4 14 o v, / / > 400 <1 >2700 | 5<8<7 / A& | A H H H | &/ | A | A/L |AH/LE| AL
6 HEE 16 4 i, / / >500 <1 >2700 | 5<8<7 / AE | A H H " | A | A | A/L | A/E| AL
7 T 16 4, / / >500 <1 >2750 | 5<8<7 / AE | A H H " | A | A | A/L | A/E| AL
8 T 18 4, / / >600 <1 >2800 |5<S<7 / AE | A H H " | A | A | A/L | A/E| BA/KL
9 B 4 25 o, / / >600 <1 >2800 |5<S<7 / A& | A H H H | &/ | A | A/L |AH/LE| AL
10 | mEF 25 JRAzh /1 (PHEV) >1400 / >50 / >2700 | 5<S<7| B - H H H H | &/ | &H | A/E |A/E| AL
HRE SR . BRSNS ERFITR 100000 AE (MERFHE) . BWEERER
ﬁﬁ%gﬁ, «Sh W M EP . B BN 3 AEE HATR 100000 AE (DLABFNE) . W FREE 8 AR EITI 150000 A F (LR FHE) . WEHTRER

«BE 3/ (PHEV) MU Z: EF FRM 3 FHH AT 100000 22 (DASEEIF ) o ZHBHRA 8 FHA4TH 150000 22 (AR F HE) - WEHRIKFR




= pNEEE

«RA2 7 (PHEV) MAEZF: EEFRM 3 FHATH 100000 22 (DUERFAE) « ZRBTRH 8 FHATH 150000 22 (DIEEFHE) « BT REFR

v e (s) ol) ' - 30%-80%, Hpr: ' 5 B BN | BR 3
7 TG) N.m) CLTC, #4: Km) %3 ¥
h) ¥ | 7

INAL B 14 # 4% S=T A 1190<v <1600 >200 / / >2700 #/E H H | A H | H/IE | AR | AHIE
INAL B 20 # 4% S=T bR 1490<v <1999 >1230 / / > 2800 I E H H | A H | H/IL | AR | A/ K
INAL B 25 # 4% S=T A 1950<v <2590 >1230 / / >3000 #/E H H | A H | H/IE | AR | AHIE
NAL B % 25 # 4% $=9 A 1490<v <3000 >1230 / / >3000 I E H H | A H | H/IE | AR | AHIE
INALE % 18 B 4% 7<S<9 4, / / >400 <1 > 2800 #/E H H | A # | H/L | AIE | A/E
INALE % 25 B 4% 7<S<9 4, / / >500 <1 >12900 #/E H H | A # | H/L | AIE | A/E
N B 18 B4 % 7<S<9 | RAE&3H (PHEV) / / >100 / > 2800 HIE H H " | A H | H/E | HIE | AL
NN B A 25 B4 % 7<S<9 | RA&H (PHEV) / / >100 / >2900 HIE H H H | A H | H/E | HIE | AL

R EE RN EE: EEFEE 3 ERFTH 100000 A8 (MR EHE) . WG RFEHR

/}’Zé&%%ﬂz s NV R A RERRE 3 ARFTH 100000 AR (DLEEIFAE) . ZHRAH 8 FRF4TH 150000 A B (USRI H N E) . WA Y RHFEFR




., pRiEZE

, R 75 B ]
* MR LY * . . ' * (BB ‘o gmw | mE | ReRE
a5 ¥ H RERY (2 | BEXR - &AL EK S (A, A am) | BB (Y, B nl) BAHE (2 | 4BSERERE | TRESR 14 B X WY . 5
fr: AIL) i) (s) (S) ’ ' ’ ' {r: N.m) Wik, #Efr: km) Bl = A4
30%-80%,
BAr: h)
1 AR A 25 W S=10 10<S<18 <6000 1900< V<3000 > 240 / / H H HIE AL Hx
2 AR A 25 W S=10 10<S<19 <6000 1900< V<3000 > 240 / / H H HIE AL HE
3 AR A 25 42 3 S=10 10<S<19 <6000 1900< V<3000 > 240 / / H H HIE AL Hx
4 A E A 25 4 v, S=10 $<15 <6000 / / >200 2 H H H/x H/ % H/x
5 AR % 25 i, $=10 15<S< 18 <6000 / / >200 2 H H H/L H/% H/%
6 R A 25 i, $=10 $=19 <6000 / / >200 2 H H H/L Hx HIx
HMFERRSE | «Rw. PR EE: EEFRM 2 FRETH 5000002 (LERFHE) . WHHRESR
K wsfi h A A H A BRAE ) AR EATHE 50000 A (VAL BIENE) . SRR S ESEATHE 100000 A E (LLER|ENE) . T RESR




h. RBEEZE

* R 75 B R
% | BE | REES (|| BAmAK ' HE (V% | Bkdge (n | URBMER | (BRRAE | L, |y | BRI EF E AR
_ RRERA K (A, BAL: om) (F#k, ¥ | RERE . B ®R Tk
fr: FG) (S) fr: ml) {r: N.m) =i | A&
£r: km) 30%80%, 3
{r: h)
1 KA E A 43 W $<23 6000<A< 7500 >1900 >1250 / / H H HIE L L
2 KA A 45 Vel $<23 6000 <A< 7500 > 3000 >300 / / H H Hx HIE H/E
3 KRB ZE 45 5 5 $< 33 6000 <A< 7500 >12500 >300 / / H H /L L HIx
4 KA E A 45 56 5 24<5< 36 7500 <A< 8500 >2700 >800 / / H H HIE L L
5 KRB % 45 56 3 24<S<40 8500< A< 9500 >4300 >900 / / H H HIE HI/E L
6 ARE L 45 %€ e 24<8<52 9500< A< 11000 > 6000 >1000 / / H H /L HIE HIE
7 AR EE 45 v, $<23 >6000 / / >200 2 A H AL HIE H/%
8 AR E % 45 g, $<40 >6000 / / >200 2 H H Hx HIx H/x
HMWRE KRS E | «RM. R AREE: BEFRREM 2 FRFTH 50000 22 (AERFHE) . BEHRIGER
R i AR R E . AR 2 FHAFTH 50000 AR (VLERFH M) . ZHFRM S FRFATH 100000 AB (LR F ) . WA ERFER




